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Que.l Fill in the blanks. 3 

2 
(1) Asympt.otes of y = are ., .......... .. 

(x - l)(x + 2) 

(a) x = 1 , - 2 ; Y = 0 (b) x = - 1 ) 2 ; Y = 0 (c) x = 1 , 2 ; y = 1 (d) not. possible 

(2) Polar equation of circle with centre on polar axis and right to the pole at. cli::;tance Cf, is 

(a) T = 20 cos () (b) T = 20 sin () (c) T = -2usin6 (d) r = -2acosf} 

, (3 - vr:21)2 , 
(3) Modulus of 'r IS ...... " .. 

(l + 2z -
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(l) Find tangent parallel to axes for the curve x = cos2 8 ; Y = 2 sin 8, ~;:;'~:/ 

4 Que 2 Answer the following ( Any Two) 

(2) Find the polar equati on of conic if directrix passes through the point (5,7[/2) and e = 2/3 ' 

(3) Reduce 1 - cos ex + i sin ex in modulus-amplitude form, 

Que,3 (a) If a curve is given by x = f(t); y = g(t) and that both x and y get numerically large as t 
approaches some number) say a , Then an oblique asymptote to the curve, if it exist, 

dy 
is given by y = mx + c , where m = lim - and c = lim (y - mx) , 5 

t-ta rh t-ta. 

(b) Find parametric equation of circle , 

OR 

2 
Que3 (a) Find Symmetry) asymptotes and sign of function for the curve y = ( )( 2) 

x + 1 x-

(b) Obtain parametric equation of cycloid, 

pe 
Que.4 (a) In usual notation prove that r = e 

1 ± e cos 

(b) Find centre and radius of the circle r = -9 sin e . 

OR 

Que.4 (a) Prove that polar equation of circle with centre (1'1, ( 1) and radius a is given by 
'('2 +ri - 21'1'1cos(8 - ( 1 ) = 0,2 . 

3 

3 

3 

(b) Identify the curve '{' = 1 + cos8 . Also find its reciprocal curve. Sketch reciprocal curve. 3 



QueS (a) State and prove De-Moivres theorem . 

(bl Express 0 + ~ i) 3 in polar fonn and simplify it 

OR 

Que.S (a) Solve X4 _ x3 + x2 - X + 1 = Oby using De Moivre's t,heoren1 . 
3 

3 


